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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
December, 2016

ELECTIVE COURSE : COMMERCE
ECO-007 : ELEMENTS OF STATISTICS

Time : 2 hours Maximum Marks : 50
Weightage : 70%

Note : There are three sections and all are compulsory.

SECTION - A

1.  Fill in the blanks with appropriate word(s) given
in brackets : 5x1=5

(@) In random sampling every unit of the
universe has chance of

selection. (equal/unequal)
(b) A less than ogive has a tendency to
. (rise/fall).

(c) Greater the value of a measure of variation,
is the degree of uniformity in
the data. (smaller/larger)

(d) Rectangles are an example of
dimensional diagram. (one/two)

(¢) The number of typing errors on a page is an
example of variable. (discrete/
continuous)
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2. State whether the statements given below are
True or False. 5x1=5

(@) There is no difference between census and
sample enquiry.

(b) One dimensional diagram represents only
length.

() The data need not be arrayed before
determining the median value.

(d) The sum of absolute deviations is the least
from median.

(¢) In a symmetrical distribution, the value of
mean, mode and median is always unequal.

SECTION - B

Attempt any two of the following :

3. (a) Draw a historigram corresponding to the
following data :

Years 2007[2008]2009[2010]2011[2012]2013
Exports (000 'tons)| 40 | 45 | 56 | 62 | 58 | 46 | 52
Amount (Tlakhs) | 22 | 22 | 36 | 42 | 40 | 36 | 36

(b) What is “false base line’ ? State its use.

4. (a) Calculate the arithmetic mean from the
following data : 10+5

No. of disputes (inayear)| 0 |1 {2 |3 | 4
No. of companies 10{10|3135(22} 2

(b) A shoe store informs that the following sizes
of shoes were sold during the course of the
day :
6,8,8,7,6,7,7,57,97,10,9, 6. Ascertain
Mode.
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(@) Determine the mean deviation about the 6+9
mean of the following distribution :

Class Interval|0-4|4-8|8-12|12-16
Frequency 4 8 2 1

(b) The goals scored by a team in a football
season are as follows :

GoalsScoredinamatch{ 0 {11231 4
No. of matches 171916 (513

Calculate co-efficient of variation.

(@) Write a note on two dimensional diagrams. 8+7
Also give examples.

(b) Explain the method of computing Quartile
Deviation.

SECTION - C

Distinguish between any two of the following :

. e 5+5=10
(@) Census and sample investigation.
(b) Discrete variable and continuous variable.
(c) Histogram and Historigram.

(d) Variance and co-efficient of variation.
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75 SarRy fF frafafaa § @ SF- w9 o €

3R HH-T1 T 5x1=5

(a) ETUFT qe HiaeEl ST H g SR T 7 |

(b) U T T Fae g 1 @ giaffe
H ¢

(c) wnfezrent @1 Yo Fuifa 3 | w8 Tl ol
S H @A T SMEATFHA T ol |

(d) TR ¥ T fa=erl %1 A <gAad S s |

(e) UH ufwdra faawor # wrew, yffasss qe
TftzrehT S Hoot T STHAH BT 7 |

Qg - d
frfafea & @ fasdi < weil % s fafaa
(a) TreAfafEa Tiwgl & fog wF wifes fost
(Historigrams) Sl |L&A1 HIT ; 10+5

EL 2007 {2008 (2009|2010|2011{2012|2013
forafa (000' 29)| 40 | 45 | 56 | 62 | 58 | 46 | 52
Tf¥n (Ara T) 22 | 22|36 | 42|40 | 36 | 36

(b) P SR Y & o A &2 T S
1 e HITU |

(@) TrafafEa Tiwsl & STUR W AR ATeq
(Arithmetic Mean) St TN HIFST

(el ®Y den : (Thad®) [0 12345
SHuf-rai ! gen 10(10{31(35|22| 2

10+5
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(b) e a1 ER 7 Yfea foman i an i o o
1= i = Sl o sk gem o

6,88,7,6,77579710,9 6. YaIsH

(Mode) @ HIfST |

5. (a) TrAfafad forawo  fore wea & wren fomem, 6+9
(Mean deviation about the Mean) &1 TUMI

S :

i Sfae (0-4(4-8(8-12|12-16

smafe | 4| 8] 2 | 1

(b) Tk FZsiicl HISH (Season) H Tah 311 gRI fohu
T Ml (Goals) Tt W& f=fafEd §

wheAdfFtmaw| 0 |1 (2|3 ] 4
B4 &t den 1796|513

fereror Ui (Co-efficient of Variation) &
TUET FY |

6. (a) Toforiia e W uw feupoft fafan ) sereor 8+7
t s

(b) <qdF fomem =t ToFn @t fafy @t s men
FifT |
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aug - g

7. fTrafafeadafediagrd aq‘aim': 5+5=10

(@)
(b)
(c)

(d)

ECO-007

o qe wfaeet STawur

@fed qun srEfed =)

A s (Histogram) de wifas fa=1
(Historigram)

YEIU (Variance) d91 fa=mor qons
(Coefficient of Variation)
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